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HERE | o BRE | on | wE [aFsosl % | E3% | soF |EME| xp |BRE| on | mm [oksosl % | E3% | sok | WA
(mg/L) | (mg/L) | (mg/L) | (mg/L) | (mg/L) |(uS/cm) (mg/L) | (mg/L) | (mg/L) | (mg/L) | (mg/L) |(uS/cm)
RIBEEAEE 6.5~8.5|0.01LL T |0.003LLF|0.01LATF| 1LLTF | 0.8ATF - 6.5~8.5|0.01LL T |0.003LLF|0.01LATF| 1LLTF | 0.8ATF —
5850 — - - - - - - - - B - 6.5 0002 | <0.0003 | <0.001 0.1 0.20 105
5868 £ |100LlE| 69 0001 | <0.0003 | <0.001 0.1 0.17 109 M| 100Kk | 67 0001 | <0.0003 | <0.001 0.1 0.19 120
5878 £ |1o0lE| 70 0002 | <0.0003 | <0.001 0.1 0.17 109 M |10k | 6.7 0002 | <0.0003 | <0.001 0.1 0.18 108
588H 53] 16 6.7 0002 | <0.0003 | 0.001 <01 0.09 49 53] 24 6.7 0002 | <0.0003 | 0.001 <01 0.09 52
589A £ |1ooult| 48 0006 | <0.0003 | <0.001 0.1 0.36 117 2 62 54 0004 | <0.0003 | <0001 | <o.1 023 78
58108 B’ 79 7.0 0001 | <0.0003 | <0.001 | <o0.1 0.09 63 B 90 6.9 0001 | <0.0003 | <0.001 | <o.1 0.09 66
58118 B |[1oomt| 71 0001 | <0.0003 | <0001 | <o.1 0.11 74 B |1oolt| 68 0001 | <0.0003 | <0001 | <o.1 0.14 80
58128 B |1oolt| 68 0001 | <0.0003 | <0.001 0.1 0.21 93 B |[100LlE| 63 0003 | <0.0003 | <0.001 0.1 0.28 101
58138 £ |1o0lt| 65 <0.001 | <0.0003 | <0.001 0.1 0.27 105 M |1o0lk| 58 0003 | <0.0003 | <0.001 0.1 0.36 112
58148 B’ 98 5.4 0.002 | <0.0003 | <0.001 0.1 0.46 127 B |[100LlE| 35 0014 | <0.0003 | 0.002 03 1.0 331
58158 B |1oomlt| 57 0003 | <0.0003 | <0.001 0.1 0.35 128 B |1oolt| 6.7 0001 | <0.0003 | <0001 | <o.1 0.21 102
58168 B |[1oomt| 7.1 0001 | <0.0003 | <0.001 | <oO.1 0.13 89 B |[1oomtE| 7.1 0001 | <0.0003 | <0.001 | <o.1 0.12 88
58178 £ |10k | 71 0002 | <0.0003 | <0001 | <o.1 0.12 94 £ [1o0nlE| 72 0001 | <0.0003 | <0001 | <o.1 0.11 93
58180 £ |100Llk| 72 0001 | <0.0003 | <0.001 | <oO.1 0.11 91 £ [1o0lE| 72 0001 | <0.0003 | <0.001 | <o.1 0.13 96
5819A ) 39 72 0001 | <0.0003 | <0001 | <o.1 012 82 £ [1o0ulE| 72 0001 | <0.0003 | <0001 | <o.1 0.14 94
58208 B’ - 7.2 0001 | <0.0003 | <0.001 | <o.1 0.08 91 B |[100LlE| 68 <0.001 | <0.0003 | <0.001 0.1 0.22 111
58218 £ [1oolk| 72 0001 | <0.0003 | <0001 | <o.1 0.15 100 ) 97 73 0001 | <0.0003 | <0001 | <o.1 0.16 96
58228 B |[1oomlt| 73 0001 | <0.0003 | <0.001 | <oO.1 0.14 95 B |[1oomlE| 73 0001 | <0.0003 | <0.001 | <o.1 0.14 95
5823A8 f o |1oolE| 7.3 0001 | <0.0003 | <0001 | <o.1 0.12 97 53] - 73 0001 | <0.0003 | <0001 | <o.1 0.13 99
58248 B |[1oot| 74 0001 | <0.0003 | <0.001 | <o0.1 0.13 97 B |[100LlE| 75 0001 | <0.0003 | <0.001 | <o0.1 0.14 100
58258 £ |1o0lk| 74 0001 | <0.0003 | <0001 | <o.1 0.10 91 £ |10k | 77 0001 | <0.0003 | <0001 | <o.1 0.11 96
58268 M o|1oolk| 74 0001 | <0.0003 | <0.001 | <oO.1 0.11 116 M |[100LlE| 73 0001 | <0.0003 | <0.001 | <o.1 0.12 120
58278 B |[1oomt| 71 0001 | <0.0003 | <0001 | <o.1 0.13 118 B |[1oomt| 72 0001 | <0.0003 | <0001 | <o.1 0.15 115
58280 M| 100k | 7.1 0001 | <0.0003 | <0.001 | <o0.1 0.17 103 M| 100k | 7.1 <0.001 | <0.0003 | <0.001 | <o0.1 0.18 103
5829A £ |1oolk| 73 0001 | <0.0003 | <0001 | <o.1 0.17 129 £ [100lE| 74 0001 | <0.0003 | <0001 | <o.1 0.18 131
58308 £ |1o0lE| 74 0001 | <0.0003 | <0.001 | <o.1 0.14 99 £ [1o0lE| 72 0001 | <0.0003 | <0.001 | <o0.1 0.18 105
58318 £ |1o0lk| 74 0001 | <0.0003 | <0001 | <o.1 0.16 104 2 100k | 7.1 0001 | <0.0003 | <0001 | <o.1 0.22 112
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